419 UTGTshH IR AfSel 9T U

Iy 2019 P WM I Iod qredfh YR Ud IRt SUTI URIET & foru
f=ferRad dfa fawl &1 909 uregsmd ar] fear T 2|

1. Siig fa=i= 2—11

2. @Y fa=d 12—18
3. @Y S| s 19—28
4. FHY [ fagm 29—38
5. M fd= (Hpd fie) 39—48




R —UF Pl UreY

BT — 12 forg— g fasm e@f— 315 & qUiie — 56
1. I TG HPIR
B SCA JIPIR yfererd
1. =1 17 30%
2 SECICPASPER 22 39%
3. SR / 3ff¥efad 11 20%
4 PIeTeT / Aifoear 06 11
T | 56 100%
2. Yol b YBR TG FpUR
B, gl & UBR gl o W@ | ofd ufd usd | @ o | ufaerd | wwafad
1. IS / TgfdeheuTcH - - - - -
2. I TTERIRICHD 13 01 13 2321 |22
3. TLARTHAD | 11 02 22 3929 |66
4. TLRTAD | | 03 03 09 1607 | 30
5. FreeTeTs 03 04 12 2143 |52
30 56 100 % 170
3. fawa qeg &1 SPIR —
ERNERICE IR
HA AT — 70 fiee
B4 ShTS JJHIR gforerd
1. gprs—1 4 714 %
2. gpr—I1 9 16.07%0
3. gpg—1II1 5 893 %
4. SPE-IV 5 8.93 %
5. gPre—V 5 893 %
6. shE—VI 7 12..50%
7. shrs— VII 7 12.50%
8. shrs— VIII 5 8.93%
0. gHrE-IX 5 8.93%
10. gprs—X 04 7.14%
56 100%




| DR & b2k MDY leb [ [bie IR [ M3Ib f Db — Dk 18 R I howop] dpfbulle— lliolle b [hobb)
(0€)9s ()9 911 (6)7T (SDLT
0£)9s | (¢ | ()¢ ()01 aa @8 (s )8 (1)1 (D1 (D1 @v | apu Il
©F - - - - - - - - - - - (T)1 - - Atlz | (1) bradlbd b lnlkdh bllk X | O}
(2)s - L] - - - - - - - () - - - Mt | (e | - Lkl b \plgyiblile XT| 6
(€)s - - - - - - @)% - - - - - - - - (1)t eloligt bElk IHA 8
()L o) - - - - - - mr | (g - - - - - - (2)z IT — lbRjid> bl TIA L
() ol - - - - - - - (D€ - (e - - - - (T)t I — pRjld bhelk TA 9
lalbdd
(€)s - - - - - - (1)e - - - e - - - - (1)1 bbllr bd ElSR| Rikdbb bigllie A S
(©)s - - - - - - ((9]4 - - - ((9]4 - - - - (1)t LPlIRIE bip Al v
(@)s o) - - - - - - - e - - - A - - (1)t IT — leRjle hblh ITT €
(s)e - Q) - - - - (D - - 1) (1)e - - - - (@) T — kbRlid holh T 4
@ - ] - - - - - (t)e - - - - - | (mr | Blop) b biis j hblh Yolp bBlle [ |}
VS | ¥VS | Be VS | ¥vS | B VS | ¥VS | Be VS | ¥VS | Bw
bl B (e by | BrogBe | e | by | BeogSe | e | bl | mopSe | Yk
Ll bRl / Riald bojtolyie / Yrlkh|klS hipbie bls Slo3 ho /Blo3 Raze b
®le 95— ®lloh LUsb| blln —: Rkp| Zl—lizp

2ul] R kh baK RS




Afed U949
I HegfAe ORIet
favg—sig fasm=

;3% Tve qurie 56
e & forg |meg fder —

GENERAL INSTRUCTION TO THE EXAMINEES:

1. el FeverH e geH uF W Al Sfrarda: ford |

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2. G 999 & Afard g

All the questions are compulsory.

3. TP YT BT SR & T3 SR gRaasr 7 8 ford |

Write the answer to each question in the given answer book only.

4. RO gl & M<R® @vs § I Wl B IR TS AT B ford |
For questions having more than one part the answers to those parts are to
be written together in continuity.

5. U 03 @ Rl a3l wumwer A B yeR @ I/ R/ TRy g9 R 2=
AT & U DI Fol A |

If there is any error/difference/contradiction in Hindi & English version of
the question paper, the question of the Hindi version should be treated valid.

6. g ge 6= 3i® TAD T
<) 1—13 1
g 14—24 2
Kl 25-27 3
T 28—30 4
Section Q.No. Marks per Ques.
A 1-13 1
B 14-24 2
C 25-27 3
D 28-30 4

7. U BHHIG 24, 27, 28, 29 T 30 ¥ AIND fadbey ¥ |
Question No. 24,27, 28, 29 and 30 have internal choices.
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U. 1 f5a ucy & WRrtey s & FEfr axa ® ? 1

The pollengrains of which plant form polonium ?

. 2 Uiedl # foged & | §& SR qaisy | 1

Mention two main causes of guttation in plants

X

X

.3 a1 # fa 9@ @1 1 & SR HeR B ARRGEIE T BT § ? 1

Marsh spot disease of pea is caused by deficiency of which element in
the soil ?

9. 4 FARISM s o1 AR &1 g |feasTor 5?2 1
Florigen hormone is a complex of which compounds ?

9. 5 Hadl D A8l orAIex ¥ Tgad AR BT 9 fafag | 1
Name the chemical which is used for surface sterilization of explants.

U. 6 “UST B’ B IRV SN | 1

Define "' Petro Crop"

9. 7 T3 ¥ T quiel &7 IfR® A= | T S AMa & {5 9T BT e 87 1
The presence of high quantity of bile pigment in urine is a symptom of
which disease in human?

Y. 8 g B AT H P Haql PRSI fendt 27 1

Which sensory cells are present in the ratina of Owl?

¥. 9 IfT Heh & SsUI P ATERIss U &fRTd R <) IR O 39 Sia-ash I DIl
forar wfaa @rfi? 1

Which process of its life cycle will be affected if thyroid gland of tadpole
is damaged?

9. 10 #gq ¥ “TIf3AT T BT G PRI qa1sy | 1
Mention main cause of '"Gouty Arthritis disease'' in human.

U. 11 I A 1 AegE 89 arelt fhar “fyafaeT | Mg Far wwsw 27 1
What do you mean by ''Clinking"' the activity felt by a pregnant lady?

U. 12 AT & QU | DIoRgd gRT Aauld R1g HF e UfoRel ura srir 87 1
Which immunity is received by a new born baby from colostrum of
mother's milk?

9. 13 YA W & [ T forrkag | 1
Write full form of CAT scan.
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Section-B
U, 14 IR f3reel § 9 “A” o9 e WRRRr fawg —25 IR den g9 fAvg —5 IR

2, B —10 IR WRRRY g T2 0 IR T favg g ‘B’ ey & w@r @ 2| 59 oo
g @ o HIfSTT | 39 ST vare @) e @ 8l ? 3/4+3/4+1/2=2

The solution 'A' enclosed in a semipermeable membrane, whose osmotic
potential is -25 Bar and pressure potential is -5 bar is kept in -10 bar osmotic
potential and 0 bar pressure potential of 'B' solution. Calculate their water
potential, What will be the direction of flow water in them?

9. 15 UIQUl H el Y99 @& RETemee ger ot T 9 H |l §HAang 9arsy | 2
Mention two similarities between symplast pathway and vacuolar
pathway of entrance of water in plants.

U. 16 “<IfHS B g F SISl T 98aR ai8d © |7 QT HROT g ¢ 39 DT B
gfie HIg | 2
""Bacteriophase is a best vector in comparison to plasmid''. Justify this
statement by giving two reasons.

U.17 TR, BT UIey fawTo] HehfAd & Tar 8 1 39 ANy gad Uy Y dIR SR g
qHEARY | 2
Tobacco plant is infected by virus. How would you develop virus free
plant from it? Explain.

. 18 Bfe A ¥ UIGU &1 9 TN Bie B # 3799 WIfad 6RA 8| 5% gafera #Ifvig— 2

Prem A e B
(1. == (A). Rafi=
(2). e (B). Rrmifest
(6. om (C). Zegf
@ B (D). Fr

The plant name is in Colum A and the chemical secreted by them is in column
B. Match them.

Column A Column B
(1). Turmeric (A). Reserpine
(2). Serpent wood (B). Cinchotine
(3). Opium (C). Curcumin
(4). Quinine (D). Codeine.
U 19 AR Aae B WA § Toilel B b W W AR B S & St wrae B
JTE b TR JHIfa BINT? R T BHIFY | 2

If Marselia fern is grown instad of Azolla fern in paddy field, then how
will be the production of Rice affected? Explain with a reason.



¥. 20 g @ RRT # IR 3R faRag | 2
Write four differences between artery and vein.

9. 21 I & FAORY TRS B DI (AT IR a0 R == 3 S fbar wfaa 8Rf?
HHRU WL BT | 2

Which activity of fertilization will be affected when proximal centriole
of sperm is inactivated? Explain with reason.

U. 22 U S D VSR W PIOAcY(cTd gl a1 S 8 A1 IMcdd = B U JvSiea
graRer e geR gwifaa Brfi? gHssy | 2

How will the post ovulatory phase of menstrual cycle affected, if
corpusluteum is removed from ovary of a woman? Explain.

¥. 23 JHO1 # 5 o= ReR & RO TOREET @ W 444XXXY=48 & ol 87 ST
59 AR & SR Rl <9 arel 9 Feror forlag | V241 V5=2
By which abnormal deformation the number of chromosomes becomes
44+XxXXY=48 in men. Mention three symptoms observed in them due to this
deformation.

. 24 TESIBIIAT AT B AMY] &1 M fIRag | 39 AT & N &1 7 ITaR qarsy |

3rrar
ARG 'xe] Tt &1 s T forlRay | @ T & A9 ™ den 79 fRwToertaa
A9 M B T qasy | V5+3/4+3/4=2

Name the pathogen of hydrophobia disease. Mention three symptoms
and remedies each to cure the disease.
OR
Werite the scientific name of Indian domestic hen. Mention three benefits
of artificial brooding and name of three viral disease in them.

Gue—q

Section-C
9. 25 diove § WREEferdT @ gfg B kAT IS | WEMfA® & YOIy aF Jfg 9 §¢
SR & T aq bIc B AMifbd o I918d | 2+1=3

Mention the growth of pollen tube in ovule. Draw a labeled diagram of
longitudinal section of gynoecium, showing the growth of pollen tube upto

embryo sac.
U. 26 FAIMT 59 HBd 2?7 WLl [&F B TN §RT Bd YR d@e o faE afed
qHEATRY | 1+1+1=3

What is cloning? Explain with a diagram the nuclear transplant
technique by J.B. Gurdon's experiment.

¥. 27 Ay UCRRM A RIMRY Mg & SgER Rl § v g @ fhar
|HSMSY | Gol I/ HT AFIHA 217 187 |
aperar

Tisd fhaeR dqga et o fharfafr aasmsd? orga @ fhar i @1 amifea
= 1Ry | 2+1=3
Explain the mechanism of stomatal movement in plants by active potassium
ion transport theory. Draw a labelled diagram of open stomata.
OR
Explain the mode of formation of enzyme substrate complex. Draw a labeled
diagram of enzyme action.
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Section-D

. 28 Goidl # ARSI BT fhar ©Id a1 87 TARHifed # @ ¥ Useidd v
% fomtor 3 franfafy wwsmsd | sae faff=T Si9 Iafe AfifesaRil &1 sIRe SRy |

rerar
ucul ® emdI¥ie ifafhar &1 fharera ®m 87 C; O ¥ sHAeEAledEs 9
@it Ao @ fharfafy wemsy | Cs o5 &7 3TRG IS8T | 142+1=4

What is the site if glycolysis in livings. Explain mechanism of formation
of pyruvic acid from glucose in glycolysis. Draw a line diagram of different
bio chemical reactions of it.

OR

What is the site of dark reaction in plants? Explain synthesis of glucose
from carbon di oxide in C; cycle Draw a line diagram of C;cycle.

U. 29 A $ UTEH OF BT AMIfhd A 8T | S AERATT § PETGIRse & Urad bl
o fafer wwsmSU

3rerar
AMG 3999 dF BT AHifed R 9180 | 999 § a9 @) fpafafy § Rvaws g Swoaaq o1

AR | 1+3=4

Draw a labelled diagram of human digestive system. Explain the
machaism of digestion of carbohydrate in its alimentary canal.
OR
Draw a labelled diagram of human respiratory system. Explain
inspiration and expiration under the mechanism of respiration.

Y. 30 §FG B SF9 §F I AMifbd R Q| gET B GREET GHIZY AT Rl
PINGRN D IR BRI A5 |
3perar

A9 & ARTSS @B =T BT AMifbd RIF s918d | 9% ARasp @1 &ET 9 IR Bl
Sy | 1+2+1=4

Draw a labelled diagram of male reproductive system of human.
Explain structure of testis and mention four functions of sartoli cells.

OR
Draw a labelled diagram of structure of human brains. Explain
structure and four functions of hind brains.
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GENERAL INSTRUCTIONS TO THE EXAMINEES:

1. Teeft Fdue™ U1 YvH Ud WR Mie Afaria: fore |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. G 99 B AfEart 2

All the questions are compulsory.

3. UA% Y BT IR & T3 IR IR § & ford |

Write the answer to each question in the given answer book.

4. i1 9wl 3 oaRe @S 8 99 ¥ & SR U 9T & ford |
For questions having more than one part, the answers to those parts are to be written
together in continuity.

5. U9 U9 & 3=l WR ool WUl # fdt geR @ P/ R/ faRemy g9 R fR=h
99T & U P Fel AT SIRAT |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated as valid.

6. Tug I e 3F AP T
<) 1—13 1
q 14—24 2
K| 25—27 3
T 28—30 4
Section Q.No. Marks per Ques.
A 1-13 1
B 14-24
C 25-27

D 28-30



1. FETERT B aRFIRT HIfg |

Define soil erosion.

2. MR B W § &I dedl B gferd A iRy |
Write the precentage of main nutrients in F.Y.M.

3. RiAg @ aRMmT faRay |

Write the definition of irrigation.

4. WUAIN RT & ?

What are weeds ?

5. aTRifaa ot fory wea € °?
What is unirrigated farming ?

6. gcT UTaR BT TSNSy |
Explain dust mulching ?

7. T—9F BT U SYART F18 |

Write any one use of cow urine.

8. SYAIATAT & 3MIR W AT DI %] DI fobd= a9 & dieTr A7 & ?

Classify the cow breed on the basis of utility.

9. TS ¥ fawry] ST T @ < IarERer foaRag |

Write two examples of viral disease in animals.
10 TRUBT HEUDT I & &I oleTol faray |

Write two symptoms of foot and mouth disease.

11. AMS.ALSIAL & qRT A oIy |
Write the full name of I.C.D.P.

12. MBI W. BT IR A R 7 ?
What is the full name of .LD.D.P. ?

13. 31T DI B DI STaqiT foRay |

Write the water demand of potato crop.

14, &1 IIRAT UG HaT IATGHAT § R F<R FHSSY |

Explain four differences between soil fertility and soil productivity. Ul 1y p4 1y
15. g, ! B H oS B Dif<ad Jaqeellel b FHASISY |
Explain the critical stages of irrigation in wheat crop. Ul #1411

16. TTHATT ATIAT BT YANT B Bl fhT IR F B & ? WK BT |

In which stages will you use the herbicides in the crop ? Explain Uy #1pH p1



17. AdDhT B HAAT | BIeT BT Sifdd AT A BRI & 7T BT |

How will you apply biological control of insects in maize crop ? Explain 2
18. Tl &g A &I GG B T9I &9 /I S arel fheal a1 {5l &r sy |

Explain any two points to be taken under Consideration for the selection of site of orchard. 1+1 2
19. fHE™ §RT Bl H he & AARIT & A T (A S dTel BIs &l IU oIl |

Write any two remedies used by a farmer for solving the problem of unfruitfulness. 2
20. 37ACIE B AT b BT & A1 TIAR BT |

Which skill will you adopt for jelly preparation ? 2
21. T8I &I IuIINTar forfRay |

Explain the utility of curd. 1+1 2
22, R T DI IYAIAT forfay |

Write the utility of Barbari breed. 1+1 2
23. TERETE I BT ITAR B a1 [ e |

Explain the method of treating Black Quarter disease. 2

o O

24, AEHRI ST HA DI & AR T IR H BRI BAT © 2 WL DIOIY

By which skill does the cooperative dairy work in milk production ? Explain 2
25. TSNATH T FIST ASANITH B AA—A BT & A4 qarsd |
Give the names of three crops of rizhobium and brodirizhoium groups. "hx6 3

26 TN §7d 9 JUTHR 1 BT FHsY |

Explain the simple layering and serpentine layering. 1+1+1 3
27. ol TRRETT & diF 3RS RIGT T BT Sooikd B quie I |
Point out any three temporary principles of fruit preservation and describe them. 1x3 3

28. frefaRad fa=gall & AR WR G &1 Tl BT quie BT |

(1) T Td T T

(2) IR S=1d frH

(3) 9151 @Y AT G dIoluER
(4) gars @1 faferat

Describe the cultivation of paddy on the basis of following points.
1. Soil and its preparation
2. four improved varieties
3. seed rate and seed treatment
4. Methods of sowing.
312[dT OR
g @ Tl BT FFTeIRad (95l & 3gR R quid HIfoTg
(1) 71 vd Hf STER

(2) IR S=1d oo



(3) 9IS @l /=T 9 dISiuaR
(4) gar$ @1 fafert

Describe the cultivation of Wheat on the basis of following points.
1. Soil and its preparation

2. four improved varieties

3. seed rate and seed treatment

4. Methods of sowing.

29. 3 &1 Tl BT FfRad g3l & IR WR 9o By

(1) @18 IR I~d b
(2) yaes
(3) dier orme @ fafer
(4) ®eTE Berg
Describe the cultivation of Mango on the basis of following points.
1. any four improved varieties
2. Propagation
3. Planting method
4. Training and pruning

AT

A B @A B FrAfoiRad 9l & MR UR auid STy

Describe the cultivation of Lime on the basis of following points.
1. any four improved varieties

2. Propagation

3. Planting method

4. Training and pruning

30. FXT A T FRaAl A DI fIRIoamell &1 JoreAd fdaad I |

Describe comparatively the in characterirties of murrah breed and surti breed.

OR

ARATS! WS  TAHell Hg B ALl Bl fARIYATA &1 el faaa Iy |

Describe comparatively the in characterirties of Marwari breed and chokla breed of sheep.

1+2+1

1+1+1+1

T+14+1+1

1+1+2

1+1+2



ki
1 | I w9 A HEl & BN BT 3 A I gl 1 1 5
2 | SIS 0.5% BRBIRY 0.25% d GICRIH 0.5% 1 1 20
3 | U @ gig b forg gaT H Jraegs T R B B WU A 1 1 40
SIS IEARERI
4 |9 Ul S TR I 9 31aTe 99T R S G | 1 1 44
5 | fo= Rarg & waelaraT 1 1 55
YT & 91 ' B AT ‘FHalell gRT gedl [Slg B 5 cm A qaT 1 1 56
B URd G |
7 | TRR B IAT URREID &1 geT 8 BN H oifdd dblcArel gd 1 1 192
Yot oo # (@18 Uah)
8 | o= ol # 1 1 194
9 | TRW, GeUPl, AT (@5 & $ gUR) =Fd U4 UNTe U= (Plg 1 1 210
<)
10 | U ¥, 211 H Ioeelgd § I Py &l 1 1 211
11 | 99T U3] fawTa e (integrated cattle development program) 1 1 219
12 ng_d SN fap™T - wrdsA (integrated dairy development program) 1 1 220
13 | 500—700 fAH 1 1 41
14 | Blg IR AR 1, x4 2 04
15 | IS 4 HII<Idh Fa=eAT o "2x4 2 40
16 | gaTs AT RAUTg ¥ Yd  gdlg & dI& IBRUN A UB, AR & & "/2x4 2 50
—aTg YA
17 | J&IP & IS AT 73 TR IoaliRgd AR 1+1 2 73
18 | g% & U AT 131 TR Ioalidd IIJAR (Pl &) 1+1 2 131
19 | TKI% & U AT 138 R Iocligd H 4 BIg 2 2 138
20 | QAP @ YO AT 182 UR Ioelad H H Py 2 2 2 182
21 | KD $ JS GAT 1928 JJIR 2 2 192
22 | Q&I B YO AT 200 R Ieelgd H I Py 2 1+1 2 200
23 | KPP JS GAT 2120 Ieel g 2 2 212
24 | Y&IP b YO WRAT 220 R Ieelgd 2 2 220
25 | P P YO AT 27 W Ieelad 1/2x6 3 27
26 | J&IP @ YO WRAT 122 TR Ieeligd 11/2x2 3 122
27 | IKI% P YO GAT 178 W Ieelad H A DIy A 1x3 3 178
28 | Y&Id @ YO HRAT 71—71 WR Ioelad 1 x4 4 70,71
29 | QP @ U5 AT 77 W Seelgd 1 x4 4 77
aferar
S B U AT 142—143 R IeelRad 1x4 4 | 142143
30 | §KI% & U5 HRAT 197—198 TR Iealiad 1 x4 4 197-198
3ferar
YD B Y GEAT 201—202 TR ealRad 1x4 4 | 201-202
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1. J899 gg PR —
® 5. SLAD HHR gfererd
1. RIS 17 30.36 %
2 TGN / TR 22 39.28 %
3. SIFIIATT / Sfforefae 11 19.64 %
4 I / AifoThdT 06 10.71%
AT | 56 100 %
2, U3l & PR TG AR —
3. el & UBR Ul DI AT | 3 Ul UL | fel i | UlRia | qwad
T
1. IS / Igfddb T - — — — -
2, SINGESNRED 13 01 13 23.21 38
3. TLRTHAD | 11 02 22 39.29 55
4, TERIAD | | 03 03 09 16.07 27
5. IRECIR:CH 03 04 12 21.43 50
AR 30 - 56 100 170 fAeTe
JRIEdBA 10 e
3. A9y g% BT APAR — geq UF BT yl 15 e
B9, ShlS FPYN gfererd
1. PIEEIENEE] 8 14.29%
2, SERICIRE] 6 10.71%
3. Pl a5 8 14.29%
4, Pic =T B AR 4 7.14%
5. qTey INT I 6 10.71%
6. B B I 6 10.71%
7. MHCIS @ W, d 6 10.71%
8. BV A5 & UgE STl DI ALIAT 8 14.29%
9. ISR H UTed AR WTel Hefor 4 7.14%
AT 56 100 %
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et & forw g fAce —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Gl GEUM 31U U UF WR AP ifaria: forg |

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2. G U DA fard 2|

All the questions are compulasory.

3. TP U BT IR of T SR gRaaT # & ford |

Write the answer to each question in the given answer book only.

4. f5=1 gl 9§ oaRe @vs & 99 ¥ @ SR U 9T B ford |
For questions having more than one part the answers to those parts are
to be written together in continuity.

5. U3 U @ 3l 9 3ol wurRer # fHdl gavR & FRe/ 3R/ R 81 W
=l 9T & U B FE q+ |

If there is any error/difference/contradiction in Hindi & English version
of the question paper, the question of the Hindi version should be treated
valid.

6. U e T 3P IS UH
N 1-13 1
g 14—24 2
kil 25—27 3



Section Q.No. Marks per Ques.

A 1-13 1
B 14-24 )
C 25-27 3
D 28-30 4

7. U HHi 27, 28, 29 T 30 H M<ARG fIbew 2|
Question No. 27, 28, 29 and 30 have internal choices.
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9. 1 9RA H T ISl R et Rerd g ? 1
Where is sugarcane breading institute located in India.

9.2 LA R L@ g A fafay | 1
Write the full name of the .LA.R.I

9. 3 Ysell YIANTS Sl TN, fher g=man ? 1
Who made the first recombinant D.N.A ?

T, 4 & B H o a1t fhd U die &1 A ey |

1
Write the name of any Insect that takes place in Rabi crops.

Y. 5 IR B Bl HaGl BT dsili~Ib b1 19 fTRaY |

1
Write the scientific name of Berry fruit fly.

U. 6 GBI & 9T IT BN & HROT Wl BT el Ig-T T hgoldl & ?

1
What is called yellowing of plants due to lack of light or Darkness.

U, 7 O & TR I, 5 ds T a1 FH | B 2 1
Which nutrient deficiency leads to khaira disease of paddy

Y. 8 “gTolR B IUT AT b T Sdh BT A fIRay |

1
Write the name of pathogenic pathogens of Ergot of Bajra/Millet

9.9 fH v urqy Wil GAGRH BT M i |

1
Write the name of any one of the plant parasite Nematode.

4. 10 Sgu # =T Faf gar § ?

1
Where is fertilization in earthworm.

9. 11 g & 7@ {59 yoR & 8 € ? 1
What type of mouth parts found in flea ?



9. 12 AGell & del § DIl [IeiHa g1 /= § urn ey § 2 1
Which vitamin is found in sufficient quantity of fish oil ?

9. 13 HegRl & oral bl W dTell A8l &I A forRay | 1
Write the name to the fish who eats mosquito larvae.

Yug—¢
Section-B

T 14 SRIIOMCT Ud FYOET § <R Pl ITERY Aled AHSSY | 1+1=2
Explain the difference between Aneuploidy and Euplodiy with examples.

U. 15 9.3 YT UG Toldgy WaR <HIEY &I Ush fa9mdr oy | 14+1=2
Write a specialty of Bt Cotton and a specialty of flavor saver tomatoes.

9. 16 <H® &I S gd Afe Sifcl § aNiRe g9de gd S e § @ o=k § ?
14+1=2
What is the difference between physical appearance and performance in
the termite of the workers and the military race of termite?

U. 17 URoidl Ud W) el dic H & R forfRed | 1+1=2
Write two differences between parasitic insects and predators.

9. 18 RRe® a4 # fegs &1 A5 FHsmgy | 2
Explain the importance of grasshopper in the ecosystem.

Y. 19 $acl HAGell @I 9181 Aol & AHifhd foF a8 | (P AR WF B Arifdd
BIR) 1+1=2

Draw a labelled diagram of external structure of Catla fish. (labelled any
four parts it).

. 20 PIARRAN & FRIET ITIM & foll BIs IR IuYad Geid ARTY [Va+Yo+Ya+o=2
Give any four suitable suggestions for the safe use of pesticides.

9. 21 b7 Rl & 3R WR ey HEMNT AT Qd 1+ M1 B g He |
(@8 a1 fag fafed ) 1+1=2

On the basis of which information, plant epidemic disease and Local
disease will be identified. (Write any two points)



U. 22 “HIhell BT gof Rl [T BT BIFTSAT faver BT FF q918d Ud BIg &l AR Bl
rifda HRA | 1Y2+Va+Va=2
Draw a labelled diagram of Tikka disease of groundnut (Conodial stage)
and labelled any two parts.

. 23 T¥ &5 § UIY A1e Sial Td I Bl GA F A D o BIE AR Iurd G |
VatYat+a+a=2
Recommend four ways to prevent plant pathogen and diseases from
entering the new sectors.

9. 24 5 H AT I R FRIHT & o I YgE & BIg Ql IUE U ISy |
1+1=2
Suggest two suitable measures for cultural management for control of
Molya Disease of wheat.
grs—
Y. 25 IqP U Thp F B B YITAR I I A S o BIg A9 U G
AT | 1+1+1=3

Give any three suitable suggestions to improve the yield of agriculture from

tissue culture technology.

9. 26 IAGMA, GET UG W ST GRl IR T Y9d ISl 8, TAD Bl Udh—Ud IV ol
Y SR | Vot Vot VatVot Vot Va=3

Explain the effect of the Nematode, Snail & Slug plants giving an example
of each.

U, 27 g & DB I DI GEAH & A& fARed gd 9T y§eT B G | 2+1=3

Write signs of lemon canker detection and explain disease management.

g1
“IR BT BIHAT T BT Ygard & 107 fIRey, Ud T Uees Bl AHsSd | 241=3
Write signs of Powdery Mildew of Ber identification and explain disease
management.
grs—q

¥. 28 ORI BT IRAINT HRY | IRT SR, vd SARacs= ®f a9y |
1+1Y2+1Y2=4
Define mutation. Explain induced mutation and Mutagens.
g1
SE g Bl URYIT BRI | T QI TG qTel T EReUT BT GHSEY |




1+1%2+1%2 =4
Define germplasm, Explain in situ conservation & Ex-situ conservation.

9. 29 "IH Bl Bell Bad DI’ B AL~ ¥, TgA U4 Sia- @b bl =07 bR Y
o BRY | 1Va+1Y2+1=4
Write scientific name of Gram Pod Borer & describe the identity & life
cycle with diagram.
an
GWRT YT BT IS 4, Ugd T Siigd =sh b1 =01 Hd Y 0 BiRY |
1Y2+1Y2+1=4
Write scientific name of Khapra Beetle & describe the identity & life

cycle with diagram.

9. 30 HYAT Bl dei-ip A AR | S PEl TR O € ? YU & urEd qF bl
Tifeed o ISy U4 Ut fohar 1 9uie B |

Vat1+1+1Y2=4
Write scientific name of earthworm. Where are earthworms found? Draw a

labelled diagram of digestive system of earthworm & explain mechanism of
digestion.

ar
ileR Ueld &1 deiieies A4 foIRed | lieR Wl dsl U S § ° $9d Sildd dsh Bl
afers quiE Bk | Va+1+1+1Y2=4
Write scientific name of Liver Fluke. Where are Liver Flukes found ? Explain
life cycle of Liver fluke with figure.
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Sa ARG RIE
HET—12
favg—afy i fasm
SR AIfTDT UG 3P JIoT
[
3.
1 | PR 1 1 22
2 | YRA BV JTEIH I 1 1 22
3 | dferadt 1 1 25
4 | g 1 AT foEd /AT BT ARG/ T BT Bl BaD H A 1 1 43
DIy Th
5 | pralffm axgfagT 1 1 52
6 | 9TogXdl 1 1 75
7 | N® 1 1 88
8 | Flfdsd TYSHBIHT 1 1 93
9 | T SIETS / BRSOV W/ BIg U Rl SR 1 1 118
10 | DIHT H 1 1 130
11 | g9 UG A drel 1 1 142
12 | faerf=g g 1 1 151
13 | TR/ UH9E / PIg T Aol SR 1 1 151
14 | |EI AR 1 2 13
NEESEIE 1o +15
15 | Th—Tdh Hal favmyar forRay 1+1 2 36
16 | IRIRG I91de H el 3T 1 2 50
Fr fwreT # |8 o 1
17 | &1 el 3R 1+1 2 67
18 | Hel HE<d HHSIT 1+1 2 136
19 | form 81 919 W 1 2 148
PIg TR HET BT el AFIBT BT TR s asVas s
20 | I IR IUYFd GSIa Vot 4, | 2 65
21 | BIg &I Hel 45 1+1 2 87,88
22 | 98! forA ] > 95
PIg QT WRI BT Fel ATIB 12+l
23 | IR ¥Rl /SUgdd ged Ui+ I+, | 2 86
24 | PIg &I IUYH SUM 1+1 2 121
25 | A9 Sugad geird 1+1+1 3 39
26 | GBI YHd forg" IR (TAh ) g +1/pH+1/; 3 | 119,125,126
JAF BT Uh IaTexV foled R 1o+ 1141,
27 | UgAE & el & forRae W 2 3 114 31rdr
INT U BT el TS TR 1 116
28 | FEI g9 forge WR 1 4 11 312047
e ARAT R W) 112411/, 3,4




29 | B! A= A 1, 47 312TaT 51
NEREEEIS! 1
REECHE] 11/,
REREEN 1

30 | &I dsIf=h A 1/, 129-131
RERSIECIES] 1 3ferdy
REBEE] 1
N 143-144

8
¥
g

11/,




1.

U —UA I UIxU

HeT — 12 fug— oY | @®— 315 ®¢ qolid  —56
N——
F 9. I SERIN gfcrerd
1. =l 17 30.36%
2, rqdTer / Jfelergv 22 39.28%
3. ST / 3Tt " 19.64%
4. PIeret / Hiferdd 06 10.71%
AT | 56 100%
2. Ul & UHR Ud FHIR
3 9. Ul & UhR Ul B | | 3id Ul U | o fd | ufoerd | |gefad e
1. RS / Tgfdebedrere - - - — -
2, SrfreTe RIS 13 01 13 2321 |38
3. TLRTHAD | 11 02 22 3929 |55
4, LRG| | 03 03 09 1607 |27
5. [RECINCH 03 04 12 2143 | 50
INT | 30 56 100% | 170 foe
3. fawa I &1 SfFIR —
JRIEART — 10 fFe
U3 UF &1 Yol — 15fHe
Gk THIY EERIN gferera
1. e, WSl d Fce Ud D] AUerd— 04 7.14 %
2 HaT SIAieT Y&l Ud Jal geq Sild— 03 5.36%
3. HaT PIATSS— 03 5.36 %
4, e fafema— 03 5.36 %
5. Far-arfafear (pt)- 03 5.36 %
6. A UG oIquily YHTiad e — 04 7.14%
7. I Eﬁ 3MIRYDh Y[¥dh dcd— 04 7.14%
8. =1 SaReT ®I Ja1 # Afhar vd Baal WR 04 7.14%
gHTI—

9. BN AR UG ggaRoT Yqyv— 08 14.28%
10. ST AT 08 14.28%
11. Sifa® / wrfe @ vd 99 SdRa— 06 10.71%
12. T ARIA— 06 10.71%

56 100%
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GENERAL INSTRUCTIONS TO THE EXAMINEES:

1. Gl GEuM 31U U UF WR AP Iifaria: forg |

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2. 9 93 B B a2

All the questions are compulasory.

3. TP U BT IR of T SR gRaaT # & ford |

Write the answer to each question in the given answer book only.

4. iS5 g1 4§ oaRe @S § 99 ¥ & STk U 9T & ford |
For questions having more than one part the answers to those parts are
to be written together in continuity.

5. U U3 & @<l 9 3l wumwer # fhdl yeR @ Fe/ IR/ fREmY g W
=
YT & U7 B T A |

If there is any error/difference/contradiction in Hindi & English version
of the question paper, the question of the Hindi version should be treated
valid.

6. U HHID 28, 29, 30 ¥ AT<IRP fAPdeq B |



SN I A

U4 o AUS Bl HU Ud BT AW fARay | 1
Write the name of upper layer of lithosphere.

9. 2 H&T SiEier & &1 9id fafag | Va+la=1
Write the two source of organic matter.
9. 3 GEM O dTel JAUBI B HeI ATHYUT Bl 9T e © ° 1
What is the attraction between molecules with similar properties called?
. 4 g9 g emar @1 sarg faRag | 1
Write the unit of cation exchange capacity.
y. 5 Wil Ud Barell @ forg 4 @1 Swya pt A foRay | 1
Write the suitable soil P" value for crops and plants.
9. 6 JRAT RSP Bl AGD G AT | 1
Write the chemical formula of urea fertilizer.
g. 7 Ui & foQ &1 maedd & ged Uive dwdl & 14 oy | Va+la=1

Write the name of two essential micro nutrients for plants.

g. 8 A fHdl acem H ofeer® wEiFe @ 7131 40 | 98 UM © df S9 dce™ &l
T ol | 1
Write the name of the rock having the amount of calcium carbonate 40 to
98 Percent.

9. 9 Ui @re & <1 Serexvl faRay | Yat+Ya=1
Write two example of animal organic manure.
9. 10 3y fafma & &1 yaR fofay | Va+Ya=1

Write the two types of ion exchange.

9. 11 Uiel & forw dadi &7 Sif=ariar & saIdl fea <1 | 1

Who gave the criteria of nutrient essentiality for plant?

U 12 BfIH & MR F UIeRRIE & Uradl R Ue+ dlol J9Td Bl Fa8sY | 1



Explain the effect of excess calcium on the availability of potassium.

.13 IS MU qg & dTod 1 WU HRAT A18d © ol UNIEv $i A 1 A ffag | 1
If you want to test the freshness of milk than write the name of the
Testing method.

.14 MR & WIE 999 BT ¢a AT 31 FHmsy | 2

Explain the trench method of farm yard manure preparation.

.15 Bl H a9 & e GART | B9 el IR I fIRkaw | Lh X 4=1

Write the four disadvantages of excess nitrogen application in crops.

.16 UIEIH &1 gged gy | 2

Write the composition of protein.

17 BAF (T UICH) § U S a7l fhel IR 3aedd QT 3l @ A foffay |

Write any four names essential amino acid found in casino (Milk Protein)

o x 4 =2
. 18 VIfdd HleAdl & IR oy faRau | hx4=2
Write four advantage of bio pesticides.
.19 B UF Y Sl §RT B9 dTel STl UGNl Bl FHSY | 2

Explain water pollution due to agriculture and agriculture activities'

20 SATgC HHg DI Ufdd AT BT AMifhd frF a8 | Vat+1V2=2
Draw a diagram of the structure of Illite group.

. 21 gaTfard feoe FYAT Ud oifdd TR &1 o 99183 | 1+1=2
Draw a diagram of automatic tilt measure and lock stopper.

. 22 HaT UR=fE®T &1 AMifhd f&F a8 | 1Y2+Y5=2

Draw a diagram of soil profile.

. 23 H&T H PIE A JUN Bl Hecd &l HROT A FAHSY | 1+1=2
Explain the importance of C: N ratio in soil by two reasons.
. 24 I9Y YRR fIea & a1 7o foiag | 1+1=2

Write two properties of buffer solution.



9. 25 WA YaT B YBR fRay Ryt Qe w9 85 A @S, fge weedr 4 dsm’
oA qr fafreie Aifsam ufteradr 15 gfoerd & 31fd® 2 | IoRa™ # U S dTel |

Td yEferd gaT GURS §RT JaT3ll ®I i GaRIT ? 1+2=3

Write the type of Salt affected soil having p" (I 8.5, ECE <4 dsm™' and ESP[]
15%. How you reclaim such soils by most popular and cheap soil amendment
found in Rajasthan.

U. 26 U g9 IUEIKI g¥ H U &l fefde S 61 argdl © (A &1 9 d qoi|
BT | 1+2=3
Describe the method by which a milk consumer wants to know the
adulteration of water in milk.

9. 27 U AN waal H Sifde Wil g T30 ofd ARl B G9Td! TIRT HAT T8l ©
AT JART @7 A AT &1 auiE BT | 1x3=3
A farmer wants to apply nitrogenous bio fertilizers effectively in crops
for organic farming, Describe three methods of its application.

. 28 H&T UUYT ¥ 3T T AN o7 Jal UGNVl & o9 Ardi b1 9o Hiforg | 1+(1x3)=4
What do you mean by soil pollution? Describe three sources of soil
pollutions.
grerar / OR
e UQuOT ¥ 37T 9T FASK © ° & UuoT & A Al $I auie BIfTY |
What do you mean by sound pollution? Describe three sources of sound
pollution.

U. 20 U=iTgrd 9 39 &1 A © ° Uwollsd & Jurer, fhanfafer vd Sudifirar &1 avi=
BT | 1+1+1+1=4
What do you mean by enzymes? Describe properties, mechanism and

utility of enzyme.

3reraT / OR
fafis | amu a1 Fe § ? fafis &1 wffexor wd sifds st &1 aof= Sife |
1+1Y2+1%2=4
What do you mean by Lipid? Describe its classification and biological

functions.
U. 30 MM Hehe d Hal H IMWAHIT FHeIgd Td 3ADB] Bl W Y9 &I 9o
PIFTY | 242=4

Explain the reaction of Ammonium sulphate in soil and describes its
effect on crops.



3reraT / OR
RITE GUR BIRWE B FaT F AMhar FHsgd Td 9@ BAdl UR G91d Bl qoi=
I | 242=4
Explain the reaction of single super phosphate in soil and describe its
effect on crops.
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ST Arefe gken
‘h&T—12
fara—g vara fase
IR dIfetdT Td 3fd o
El ERIERESHN 3i® TS G
qEn
1. T-UUS 01 05
2. @). 9eT | 15
(ii). ST=g @ v, | 7
3. KRSk 1 31
4. I RfFT (emolkg ™" 1 39
5. 65X 7.5 p 1 48
53
6. co(NH,), !
| afm, S, Rifsem, wafee, SofRm, %) } 76
Hafee 4 9 o8 1 1
8. aETs) TeeH 1 7
0. T T, H1,888] o @le, %
A5 A @g ¥ ¥ B QA 1, J oy 142
10. (i). emme fafea 15 38
(ii). o= fafa %) 1
11. Sl IS, ARAH 1 4
12. TeR| & gTdr B9 8 ol 2 | 1 41
13. IrreTar Teror fafyy 1 164
14. QR g 31 fafy &1 9| A W 2 145
15. IR g fores R Vax 4 =2 78—79




16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

SATSC g 31 Ul a1 &1 o 911 W)
AMifhd BT W
Tl BT ffE 99 W)
ICERCEIRRT
AMifhd BT W
Tl BRUT forE W
M 07 forem W

&R HaT
a1 & foream | gua @ fafyy foras w

AMTIYH AR
fopar fAf &1 99 9 W)

0= fafdy &1 gvfq & W

T UGHUT &1 IR foram )
ST UGN & U Al BT oI B IR
3rerar
e UguUT &7 37
&g UguIT & Al BT qUH BT WX

ToTTgH &7 37
TolTgd @ o, foharfafyr vd Suaifar

s x 4=2

Lhx 4=2

02

%12
12

1+1=2

1% (2
1
1+41=2

1+1=2

1x3=3

1
1x3

1
1x3 | 4

1
1+1+1

}04

131

131

105

11

33

168

04

23924

49

60 d 63

166

149 9 150

117 9 118

120
120 9 121

132
133,134




30.

AT

fafos o1 et
fafds &1 aiffexor g Sfas st &1 9vi=

Ffafpar &1 v = W)
Bl TR gATg foras R
Jrerar
IFIffpar &1 gui| HA W)
Bl TR 999 oy R

1
11/2+11/2}4

136
136,137

95
96

97
97
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9. SiEtu PR gferera

1. Elkl 17 30.50 %

2. AT / 7fTET 22 40%

3. SIFIIATT / Sfforefae 11 20%

4 I / AifoThdT 06 10.71%

AT | 56 100 %

2. U9l & YhR T4 IR —

3. el & UBR Ul DI AT | 3 Ul UL | fel i | UlRia | qwad
REkiR!
1. IS / Igfddb T - — — — -
2, SINGESNRED 13 01 12 23.21 35
3. THRIAD | 11 02 22 39.29 62
4. TERRIASD | | 03 03 09 16.07 28
5. [RECIRIES 03 04 12 21.43 45
AT 30 - 56 100 | 170 fe
JRIEdBA 10 e
3. A9y g% BT APAR — geq UF BT yl 15 e
B9, ShIg FPYN gfererd
1 I 3 5.36%
2 I 3 5.36%
3. 111 3 5.36%
4. iv 5 8.93%
5. v 5 8.93%
6. vi 3 5.36%
7. vii 4 7.14%
8. viii 4 7.14%
9. 1X 4 7.14%
10. X 4 3.57%
11. Xi 2 357%
12, Xii 2 3.57%
13, xiii 2 3.57%
14. Xiv 2 357%
15. XV 2 3.57%
16. XVi 3 5.36%
17. XVil 3 5.36%
18. XViil 2 3.57%
ART 56 100 %
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Hied Y -9
IR AT GIeTT
fava—ar= fas= (Heha 1)

A E: 3% Tve quries 56

ey & forv 9m= feer —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Weeft Fdue™ U Y U WR Mk AfFaria: o |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. i) U H AfEr 2|

All the questions are compulasory.

3. YA U BT SR ol T3 IR Radr 4§ & ford |

Write the answer to each question in the given answer book only.

4. 51 9wl 3 oaRe @S © 99 ¥ & SR U 9T 8 ford |
For questions having more than one part the answers to those parts are to be written
together in continuity.

5. U U3 & Bl U9 iUl wu=Ror A fHel yoR ot FRe/ R/ fRemy gq ) =<0
HINT & U9 Bl FEl A |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.

6. Tug e He&T 3® TAD YA
3 1—13 1
q 14—24 2
q 25—27 3
T 28—30 4
Section Q.No. Marks per Ques.
A 1-13 1
B 14-24
C 25-27
D 28-30



1. faga faga @ aRmm fofay |
Write the definition of electric dipole.
2. TIURIT fHY FEd 7 ?
What is the self induction ?
3. x RO & <1 IuINT faIRay |
Write two uses of X-rays 241
4. HHOT BT IR BT |
Define Hybridization.
5. AfNE&Her &I g9 forRed |
Write the defination of parthenocarpy.
6. Aol fd 4 JWHH fhd UHR &I BaT & ?
Which type of inflorescence is present in solanaccac family ?
7. I G IR TAT T FHoSell TRFTYN H FIT <R & 2
What is the difference between moving magnet galvanometer and moving coil galvanometer ? o+

8. 31U ST fa9d DI AT B WR AGeTT & Dl dlely R T G4 YSIT ?

What is the effect on width of depletion region if forword biass voltage is doubled ?

9. we— Jgurdl fohar R & ufcrores &1 M faRay |

Who gave the law of mass action.

10 UGG dga1d T & |
What are thermosetting polymers ?

11. fis¥Tss 9 WRTSVSS IR H MM & SR & SMER WR U 3 <R [1a |

Write the one main difference between Thyroid and parathyroid gland's in the basis of hormonal role. ' /2+1/>

12. {5 orel @1 IRAT T & HROT T BT SUINT Wl H 8l & ?
Hing is used in food due to pungent smell of which acid ?

13. GGl JHM g Tolel & SUAR H ABH ¥ U BT Uehalisgd YHTd! BRI ?

Whuch alkaloid is effective, product by opium in the treatment of cough cold and njle.

grs 9"

14, U GBI TAT ATFEDII YT DI GRATNT DI |

Define diamagnetic and paramagnetic substances.

15. 519 A9 GaRE R eRaw C, C, @ C, &, 99 Hd & daifvra fed Sma
g A god IIRAT & g B T BRI |



Derive a formula for eqvivalent capacitance when three capacitors of capacitances C, C , and C ,

are joined in parallel ? 2

16. U N X TAT A 3IIURS HIC ATl AIATBR HSell Udh T DI & H
Uh FHAE WMo d gd &l &, 59 HRU Ia- IR fayd argsd ad &t
A WU B |

Derive a formula for the induced emf due to a rectangular coil has N turns and cross seetion area

A is rotating in uniform magnetic field woth uniform velocity w. 2

17. 3t AT T FFAoTh AT F IR 3R forRay |

Give four point of differentiation between ionic compound and covalent
compound. Uy #p++1y 2

18. FRATUT T 9o BT SNVl Afed AHISY |

Explain calcination and roasting with example. 1+1 2
19. USSR Ud FAGUIRdE URRIT @1 3M<INe e & Dls &l <R eIl |

Write the any two difference between internal structure of dorsiventral and isobilateral leaves. '/ +1o+1+1, 2

20. UHTI FIAYT BT JATAT BT dTd DIg QT MT<IRD HRD] DI TSNS |
Explain any two internal factors they affecting photo synthsis. 141 2

21. TRIHRT G Alelwel 98 H 3R WK Hd gU UAH BT H Y Iarevvl faalad |

Write the difference between phylum porifera and coelenterate. Write one example of each. 1+ 1+1/> 2
22. & 10 WH AT 3R 100 BRI ATell qATHR HISAl § 1A @I IRT JaIRd & I 8, HUsell & d§ W
TEDII &3 BT A AT AT ?

Consider a coil of radius 10 cm of 100 wound turns in which a current of 1 A is flowing what is the magnitude of 2

magnetic field at the centre of the coil ?

23. & Usrf @ gEe™ Ugfd 23 x10° ©| 39 4x10° A/m D FEHA &F H @ ST ©, 99 ugrl @
T ATl BT A ST BIIY |

The magnetic susceptibility of a substance is 2.3 x107 it is Kept in a magnetisation field of 4x10° A/m. Then find the value

of intensity of magnetisation ? 2
0 24 fr=ifeiRaa &1 gaa Y |
T BT 9 IAFH BT
@). P (1). B9eIse
(@). e (). Riwrge
@). vgftrm (3). PR UISRIZE

(. v (4). SfeaTSe



Q. Match the following

Name of Metals Name of Ore's

(A). Copper (i) Haemalite

(B). Iron (i) Zinkaite

(C). Aluminium (iii). Copper pyrites

(D). Zinc (iv). Bauxite Yo+ p4 41, 2
s 9§’

25. YNATA® AR T 87 ATRITGRAT BT YHIfId HR dTel hlg aT BRDT BT FHSISY |

What are Chemical equilibrium ? Explain any two factors affecting the state of
equilibrium. 1+2 3

26 (1). g™ 6,6 fba bR Ut fobar AT 87 srfafshar R |
(ii). TSA 6,6 BT YT B & OTY UYFT YTl & AT QIToTT |

(iii). SRART Bl FM H [FH ISR & 95D AR 7 |

(). How is Nylon- 6,6 obtained ? Give reaction.

(i). Give the name of monomers used for obtaining nylon- 6,6.

(iii). What type of polymer is required to make a rain coat. 1+1+1 3
27. UTa_ B GRWINT PIRTY | 9o @ 9Tae & SURTT Yad BIRTGRIT TIT BIFRIGT g T

ferfor IR b gRT Erar ® P fageiyor Hifg |

Define the digestion. By which reaction formation of blood Cell's and cytoplasm in the duration of food digestion?

Analyses it. 1+1+1 3

s g
28. II— drell a4 fd Fed © ? I drell aviTeed &1 I RIMUd BT | SAET SR UiEiiie Saver &
iR form ae e |

What is the De-Beoglie Waves ? Establish formula of De Broglie wave length. Draw labelled daigram of Davission and

Germer experimental arrangement. 1+2+1 4
AT OR

IR fdaes 6 Fed & ? TGy AT AR & ARAT B §9d IR Hae Bl

foIRau | TReTdidT I BT g9 | 14-24-1 4

What is the radio activity ? Interprets half life and mean life them write relationship between them. Draw decay curve.

29.( @). f=faRaa sifafshamett &1 e e oy |
(i). gt it
(ii). €T HUS AT HAT

@). renfarRad Afre! & Mg AT, AW forleay |



(i). CHs - CH - CH5 - CH - CHs
oo bu
(ii). CHz - CH. CHa - CH - CHj - CH3

H3 2 H5

(A). Write the chemical equation of following reaction :

(). Wurtz Reaction
(il). Sabatier Senderen's Reaction.

(B). Write IUPAC names of following compounds :
(). CHz - CH- CH, - CH - CH3
EH CHs
(ii). CHs - CH. CHz - CH - CHy - CHg

Hs 2 Hs

3RAAT

(@1). f=ferRaa srfafeanstl &1 e THaRer fafRay |
(i). FAHAT U IffHfdhar
(ii). IR sifdmHe srfafesar

@). srenfoRaa AfTeT @& LA AL 74 forRay |

(i). CHs - CH - CH - CH - CH3
CHs CHs

(ii). CH - CHa - CH, - OH

(A). Write the chemical equation of following reaction :

(i). Clemmenson Reduction Reaction
(i). Grinard Reagent Reaction.

30. RO TF BT AEId TR & FEeNl g D fIfau |

A @ R S GF BT AT & a8 |
SO @ ARAT HT AR ford 9978 |

Write the example and work of accessory gland of male reproductive system.

Draw a labelled diagram of human male reproductive system.
Draw a labelled diagram structure of Spermatogenesis.

T+1+1+1

T+14+1+1

1+1+2

4

4

4



OR

AT S99 a9 &1 A8¥d U & SaexvT 4 dR faIlRav |
q9d & AT $99 dF &1 AMifhd e 9918 |
IV BT AT BT AHifbd o a9183 |

Write the example and work of accessory gland of female reproductive system.

Draw a labelled diagram of human female reproductive system.

Draw a labelled diagram structure of oogenesis.

1+1+2

4



Aled U U

IR SUTITT Gl
‘h&IT—12
favrg—arra fa=m (Gvqpd fRrem)
IR diferedT Ud 3fh AerT
3.
1| fagd feyga @1 gy fora o 1 1 5
2 | TURYT BT gRUTYT forege o 1 1 33
3 | x fHRO & QT SUANT foey R pslly 1 56
4 | GHROT BT gRATRT fores =) 1 1 86
5 | foar a9 & 3vsahd d gRddd 8l 1 1 138
6 | Ud IEl FdmEll f 1 145
7 | 3R foRaw wR 1241/ 1 27
8 | BT aferar SRl B SR 1 1 73
9 |CM TaF g 0. anl 1 1 93
10 | Y & 98P @l URWNT folg WR 1 1 126
11 | BEF & BT & IR TR 3R forgd TR 12411 1 253,254
12 | Bwfcld 3T 1 1 171
13 | BPISH WIS—q 1 1 170
14 | JAP DI GRYYT forgs 1R 141 2 206
15 | Gl ST g=c,v+C,V +C3v 141 2 22
Jod GIRAT C=c,+crtcs
16 | BIdd I O] 1 2 34
fdgcargs 9ol &1 3 1
17 | BIg IR <R foRgd W Y+t otly | 2 84
18 | TP BT ISTE0T foray T FHMH TR 141 2 101
19 | UA® & Plg ol IR fogd WX g+t oty | 2 156
20 | BIS T A<IRP HRDI BT THSH TR 141 2 189
21 | MR W& A R 14112411y 2 206,207
UH—Tdh IaTENY foRg IR
22 | g | HEl AM @ R 1 2 12
B=6.28x10"* T 1
23 | g | 9l AM @ R 1 2 66
[=9.2A/m @I ITOET 1
24 | A (iii), B (i), C (iv),D (ii) Uyttt | 2 99
Yrs—F
25 | YRR ATRI BT gRYTYT foRgd TR g1 BR$I B IJHIH TR 142 3 91,94,95
26 | a1 IfAfhar forgd wR 1 3
TRAT HfeT SEUHE 9 TSIU® Il fored ™ 1
UTell arsfadl FeiRTgs foreas R 1
27 | gRYTYT foRg= TR SN T FHIHRT BT Aoy foRgd oR 14141 3 236,237
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ST gl R Bl gRATYT foRed R

?ﬁl=£ DI WITYAT HRAT
p

YT g &1 AMifehd o g9 W)

3rerdT
eTert faaes @ gRymT fores wR
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56,57

62,63

29

(31) 1. g =ffhaT forRad W

2. AETRRTS IfAfhAT fore W
@) 1. 2—ARr—Ued—2 3ifd

2. 3—Vfrad—5Hfd—ga

arerar

31) 1. Tl 3= Srfafhar forgs R

2. IR afeds afafhar fores w
@) 1. 2—3 ST3 A UeA

2. 1— YU=ired

1+H1+1+1

1414141

119,116,114

120,119,114,112

30

RIS T & IEERV T B forags W

TR S BT AMifhd = g9 IR (JEIe @1 &3 30.2)

YEh S DI GREAT BT AMIfhd O a9 W

(qxis &1 = 31.2)

aferar
WEI® T & IQeX0 9 SR fored W)

AT ST BT TAMifdbd =& 99 W (e &1 &3 30.3)

IS ST BT ARTAT BT AHIfRT = 99 TR

(g% &1 o 31.3)

261,264

261,265




